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EX: EXE M
MM NESHH WA
Sel: NEUTSY CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OIANEZHISXdl] 3,960
OREESXNACZZ Y FANES
330,000 ~ 12& 3,960
202 044 2,800 2,800 0
01 2L Y| 2,800 2,800 0
ORHUYIXY U LIHSHXY TS
20,000 = 291 % 40 1,600
OMEAELZI AHOI
120,000 * 202! % 53| 1,200
BN 54,221 38,906 15,315
201 LBt Y| 51,621 36,306 15,315
01 AP 22| d| 40,870 27,320 13,550
Older==2H| 34,670

300& = 2& = 2,50004 1,500

300,002 + 8771 11,100
OAZHAM Fits A2E 79
30,0008 * 508 * 43l 6,000
OSHFHI 2 H4Y KEH
70,0009 + 664 4,620
OXMZSHEXB(ZOHO! HSH3)
150,0002 * 1074 1,500
OLSSHE+Y(ZHO HSH3)
70,0009 * 534 350
OMBIBIA Z=XE EXB(ZMO ML)
150,0002 * 2074 3,000
OZINT EXNSHUEXE(HHY MSHE)
150,0002 * 4474 6,600
SIEET 3,200
OLZHAN DEXNE S S
8,000%! * 491 100 3,200
Olgx2] 3,000
AZHA HE HOIKY AR
200,002 * 10§ * 152 3,000
02 BBl 10,751 8,986 1,765
OlZZ22 % XA 800
MUPHR 80,0008 * 1CH 800
4,992

=g = fust) = 7T - T
16,000 = 1CH » 12& 4,992
O[Xg - detdl] 4,959
O SYH=EX HE28 U FFUH
1,347 .78 * 554 * 43 » 12& 3,559
O =YX H4EXE Zdl 2 =2
200,000& = 73l 1,400
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M EXE ML
M DsHE A
Sl DSUISY (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
202 Od4dl 2,600 2,600 0
01 = LHA YI 2,600 2,600 0
FEX A& ol
20,0003 = 201 = g5 2,600
SIF=IHE 2 32,112 76,000 A 43,888
201 Let249] 12,112 6,000 6,112
01 At 22/l 4,000 4,000 0
Olger=2tl] 4,000
OYA=XE 4X MM 7L
2,000,000& = 23| 4,000
02 =224l 8,112 2,000 6,112
o222 ¥ HMAl 8,112
OBYFIE ®IIR2 L +503
500,000& = 12& 6,000
OILESFXIER &ZI wX 2l
176,000 * 123 2,112
401 Al BIZ 201 8I 20,000 70,000 250,000
01 A& HI 20,000 70,000 A 50,000
OYAI=Xtetel &X & EA
5,000,000 = 14l 5,000
OZEFXE KRAE=H 15,000,000& * 14 15,000
AN 8,153,369 5,860,517 2,292,852
= 87,269
s 350,000
< 270,012
s 7,446,088
ME XA 714,512 526,532 187,980
< 214,512
s 500,000
307 gl2tol & 714,512 526,532 187,980
= 214,512
i 500,000
09 2HAHEXS 714,512 526,532 187,980
OsHEHA HEXZZ2(01SAY)
714,512,000 14 714,512
S 214,512
s 500,000
=R3EE MEXE 600,000 0 600,000
s 300,000
s 300,000
307 21201 A 600,000 0 600,000
s 300,000
[ia 300,000
09 2HAHAEXS 600,000 0 600,000
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EX: EXE M
MM NESHH WA
Sl 2AAMYXH (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OS0ZH~ ~os2s WaAd
600,000,000& = 1A 600,000
Fag 300,000
= 300,000
=AH A 500,000 444 384 55,616
307 2I2t0| & 500,000 444,384 55,616
09 2L AHEBEXZ2 500,000 444 /384 55,616
OHEXEd &ABAZ(0ILAY)
500,000,000& = 1A 500,000
SEUWXH 4,800,000 3,000,000 1,800,000
307 Q12t0| ™ 4,800,000 3,000,000 1,800,000
09 2L AHEXZ2 4,800,000 3,000,000 1,800,000
O2xg8H |80 XN
4,800,000,000& * 14! 4,800,000
2HHAXNRE 86,250 172,500 A 86,250
= 30,000
= 56,250
307 QI2t0| ™ 86,250 172,500 A 86,250
= 30,000
= 56,250
09 2LHAHEXS 86,250 172,500 N 86,250
O2g9HA AN 28,750,000 = 304 86,250
& 30,000
= 56,250
HAEOY 2234 & 10,000 20,000 A 10,000
307 2Iz2t0| & 10,000 0 10,000
02 DIZIEAAIRE E X 10,000 0 10,000
OZ2EHAHOE YWitetd] A&
2,000,000& * 50 A 10,000
HOlY s&a =S HEY 2EAYE 3,845 0 3,845
= 1,922
= 1,923
405 XH&HF S HI 3,845 0 3,845
= 1,922
= 1,923
01 XAt 2 FF S| 3,845 0 3,845
OHO0lY St&A MIMEXI Y XX F
Q! 769,000 * 5CH 3,845
= 1,922
= 1,923
EHAI K& AL 747,856 664,761 83,095
= 64,347
= 50,000
o= 15,000
= 618,509
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sHE M
A CEEEED
= - — SHE|
M- =8 s (3) - HRAMY - BES 0l &t o8 il HlnE2
201 LB-2d| 10,800 A 85,360
01 At 2t 2l 10,800 A 85,360
Oflger=&tl] 10,800
O 100 EHAl OI2F M=
3,5000 = 200& » 120H& 8,400
ontEd 1LRQ MEHE E AMREZ 7Y
300,000& * 13 300
OHANTRFARE BHEY
70,000& * 5% « 63 2,100
202 oddl 1,600 1,200 400
01 = LH o4 1l 1,600 1,200 400
O1002&Al 28 NEEHZ 0l
20,0003 = 221 » 40 1,600
207 A RO H| 22,000 0 22,000
= 9,747
i 12,253
01 89 22,000 0 22,000
OHANSE =AM 29 22,000,000& = 14 22,000
= 9,747
s 12,253
301 L2 A3 705,800 555,000 150,800
= 54,600
s 50,000
< 15,000
s 586,200
09 SALAHIE &S 5,000 5,000 0
OEAl2s 2HS 98 LT At
5,000,000& = 14 5,000
12 JIEBHE4 = 700,800 550,000 150,800
O100Z & Al Ol20 E 243
250,000,000& * 14 250,000
s 50,000
< 15,000
s 185,000
OEYAl ZX 24l 30,000,000& * 10CH 300,000
= 54,600
s 245,400
o2y = M 2
100,000& * 116CH 11,600
o=z iz
100,000& = 116CH = 12& 139,200
307 21201 A 7,656 7,986 A 330
02 YAFAANGFEX 7,656 7,986 A 330
OHAl tEHZ) SaE X&
5,500& = 11601 » 12& 7,656
HB2AtE K& 498,306 870,440 A372,134
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EX: EXE M
MM NESHH WA
Sl 2AAMYXH (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 26,386 36,120 N9,734
01 AP 22| H| 3,400 17,400 A 14,000
Oorlgxrz1] 3,400
OS&EHOE oISk 22 s X ¢dXs
3,400,000& = 1Al 3,400
02 232%4| 22,986 18,720 4,266
OHAXEEAIAE(BIS) AHHU)| SEXR2
15,000& = 2804 = 12& 5,040
OHAXMBAIAH(BIS) BFAQCHY SAMR2
26,000 = 130H *~ 12€& 4,056
OHAXEEAIAH(BIS) HEHI MY A EAR
= 5,5008 = 50 * 12& 330
OHABEBAAE(BIS) M2
10,000€ = 130 & = 12€ 1,560
OHAMBAIAE(BIS) SXIE4H|
1,000,000 * 12& 12,000
202 044 1,920 2,000 A 80
01 2L I 1,920 2,000 A 80
O[=2WHodl] 1,920
SEXNAA &8 WEAR #X 0
120,000 = 4091 * 43| 1,920
207 A OH 4| 25,000 0 25,000
01 24| 25,000 0 25,000
O"EXLEHd 1,000 HA 280 02 &=A2A
= MMEEY 5,000,000 = 14 25,000
301 et A= 14,000 0 14,000
12 J|EtE2 A= 14,000 0 14,000
OsHEHA U&= & 22
500,000 = 28CH 14,000
307 QI2t0| & 400,000 790,320 A 390,320
09 2LHHEXZ 400,000 750,000 A 350,000
O1,0008 HA S8 HE =442
400,000,000 = {14! 400,000
308 MXISHMSOIA 9,000 9,000 0
07 AIXISHHZ2IEES 2 9,000 9,000 0
OHAMBAIAE(BIS) SAI22IH]
9,000,000& = 1Al 9,000
401 AlEHIZ S 0HY| 22,000 33,000 A 11,000
01 Al& H| 22,000 33,000 A 11,000
OHASZE HAHHSHLD| &
11,000,000 * 200 £ 22,000
Z0HC SEHA 29 192,600 121,100 71,500
= 21,000
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2N

PRSI S A
gel: 2N (eel:&d)
- _ _ RE]
A E= . a2 (3H) - HEAY - B A= %Eﬁ HR=2
= 10,500
= 161,100
201 LBt 9| 700 700 0
01 AP 22| H| 700 700 0
ORSANOISHIASAANS &4 25
70,000 = 5021 % 23| 700
202 o4 | 400 400 0
01 2L HI 400 400 0
OZMCIZEA 29 NEEZ 0|
20,000 * 291 % 10g 400
307 2Iz2to| & 160,000 ,000 40,000
05 QIZtR E 2 160,000 ,000 40,000
OHMISEHA 294 40,000,000& * 4CH 160,000
405 RHoHFE S HI 31,500 0 31,500
= 21,000
& 10,500
01 JHAHY 2 Z F = H 31,500 0 31,500
OXOOISEHA & 2 31,500,000& = 1CH 31,500
= 21,000
o= 10,500
WEHMAIA 22| 542,419 ,728 A 61,309
WEMAIE S22 392,838 ,388 A48 ,550
201 et | 127,880 ,880 0
01 AR 22l ] 10,280 ,280 0
OnsSADME SeHIIE M
70,000& * 404 2,800
OuWS A0S WM M & 4,4002 * 200K 880
ORSAMNBIHHACEY 442
55,000 = 12004 & 6,600
02 2=2=24%H| 117,600 ,600 0
OQuUusSHssS I3
65,000 * 140004 ~ 12€ 109,200
OLXNZI2LIHEANAE 3H& AlE22
100,000 = 702 = 12&€ 8,400
202 04| 2,000 ,200 800
01 2L HI 2,000 ,200 800
OUEAUMAIEE HH 04l
20,000 * 291 % 50 2,000
307 2Iz2t0| & 12,000 ,000 0
02 QIZHA AAIE E X 12,000 ,000 0
O[eI2tBAAH B X] 12,000
O WESJ=EA & WEAD O ZHHQ!
7,000,000 = 14 7,000
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M EXE ML
M DsHE A
oel: DEFEALDE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O Moty nsEN2s &M
5,000,000& = 14 5,000
401 Al HIZ 201 I 250,958 300,308 A 49,350
01 A& HI 249,500 298,500 A 49,000
Ousas) a4 60,000,000 = 20H A 120,000
OJIEet NSt AMEE HXI(BALE EtEES)
500,000 * 4004 & 20,000
OFRBES UE 2 RIS
250,000 * 604 & 15,000
ONFUSE RAEE= SAH
500,000& * 1000H 2 50,000
OunsetdEX 8 &X| 300,000 * 15042 4,500
OL® wsds HMAHII wx
5,000,000& * 84 40,000
03 Al 2 THHI 1,458 1,808 A 350
OnsdszIl a4 120,000,000& * 0.72% 864
OZ=es u4 15,000,000& * 1.08% 162
OL=wsSdSHAHI A
40,000,000& = 1.08% 432
HEHASZE &X 149,581 162,340 A12,759
401 AIEHIZL 201 149,581 162,340 A 12,759
01 A& HI 148,000 160,000 A 12,000
Os2&d 4 8,000,000 * 64 48,000
Osdd E= 1,000,000& * 4000 £ 40,000
OsZ2& uH 10,000,000& * 5JH £ 50,000
Osdd HEX& &4 2 wxH
1,000,000 * 100H £ 10,000
03 Al 2 THHI 1,581 2,340 AT759
Oosdd M4 48,000,000 = 1.08% 519
Oosdd 2= 40,000,000& = 1.08% 432
OosZ&d uA 70,000,000& * 0.90% 630
HY2HZH (SAZ ML) 72,880 70,172 2,708
Jledyl(ger) 72,880 70,172 2,708
SXNNAE =234l 29,200 24,252 4,948
201 £B-2dH| 16,400 13,062 3,348
01 At 22l 16,400 13,062 3,348
Olger=2tl] 10,000
ORAN2YE SHAHA 10,000,000& = 14 10,000
Ol=&Hl] 6,400
ORAN2E SHAH & 8,000& = 821  100& 6,400
202 04 Hl 8,000 6,400 1,600
01 = LH 4 1 8,000 6,400 1,600
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M EXZH D

M. HMSAHH (SN M)
Sl =AY (Y8) CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

ORN2Y SHAA 20,000 = 892! = 50 8,000

203 R =&Y| 4,800 4,800 0

04 ENSIHRF=AY| 4,800 4,800 0
ORNMEY gRF=&H| 400,000 = 12& 4,800

2AxclIsSHE JI=23H| 12,000 15,720 N3,720

201 L2 H| 7,200 10,800 A 3,600

01 A2 22| bl 7,200 10,800 A 3,600
Olgets2H|] 4,000
ORANEY SHH L 4,000,000& = 14 4,000
Ol2&dl] 3,200
ORANESE SHHA 8,000& * 421 = 100 3,200

202 04| 4,800 4,920 N 120

01 =2LH O HI 4,800 4,920 AN 120
Ol=uWdodl] 4,800
OFRNESE SHHA 20,0008 * 401 = 60 4,800

NSESEME JI=23Hl 12,000 10,800 1,200

201 et A | 7,200 6,800 400

01 AFR2t2l Yl 7,200 6,800 400
Olgetsgdl] 4,000
OFRNESE SHHA 4,000,000& * 14 4,000
Ol2&Hdl] 3,200
OFRNESE SHHA 8,000& + 420 x 100 3,200

202 (4] 4,800 4,000 800

01 2L Y| 4,800 4,000 800
Ol2UWdAbl] 4,800
OFMNESE SHHA 20,0008 * 401 = 60 4,800

nNSHFE Jl=23| 19,680 19,400 280

201 LEt2 Y| 10,080 11,400 A 1,320

01 AR 22| I 10,080 11,400 A 1,320
OlgetL2H|] 4,000
ORNEYE SHAHAN 4,000,000& * 14 4,000
Ol2&dl] 6,080
ORANEY SHHL 8,000 =* 801 % 95¢! 6,080

202 04| 9,600 8,000 1,600

01 2LHOHI 9,600 8,000 1,600
ORN2E SHH A 20,000& ~ 892! » 60 9,600

MRES(EXNZH D) 600,000 500,000 100,000

WEHN XK= 600,000 500,000 100,000
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NNy
P HRES(ENZ M)
D UHEHAXE

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
2 SAINISHAY 600,000 100,000
701 JIEtel HSHES 600,000 600,000
01 JIEtSl HEES 600,000 600,000
OZgzsAlIgs4II3 =4
600,000,000& * 14 600,000
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> A
A & 0l & AF 2 E A A
20198 & =0llah LB & X
SN B2
HE: VYA Ay B
ool NYHIRY (B9 ®R)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
E 71,317,546 70,567,716 749,830
= 97,440
< 80,848
s 71,139,258
AN A& 25t 7,409,080 5,990, 109 1,418,971
< 20,288
[ia 7,388,792
NgHad=2d 1,694,938 1,188,126 506,812
ANLHAZESKH 585,237 524,920 60,317
101 @124l 196,392 180,720 15,672
04 JI2ZtHZ22HEE = 196,392 180,720 15,672
OWstd Ot=ZHI0IE 22Y
66,8003 * 492! * 30 * 23| 196,392
201 et 110,190 64,440 45,750
01 At 221l 109,190 63,440 45,750
Oflger=&Hl] 96,590
O, Z4 AL B BHHE M
70,0003 = 3000 = 23l 4,200
O=oUs 82 SdoHE L A& M=
70,0003 = 3204 2,240
MR FMAL = JEGBERY
100,000& = 1008 = 33l 3,000
OMUREMAS 27 ELSHE
1,000,000& =* 23| 2,000
OEIYX MEJIEW ¥ S=2W M
200,000 = 1401 » 2& 5,600
OZJI7H MZ 1,500& * 500% = 23] 1,500
O BtaalE MZA  4,0008  1,500% * 128 72,000
OQAIEAMEE & HIFY
4,000& * 50004 = 23 4,000
OAUE gEE SFUHY
400& = 25 = 1,0000H 800
oOdEXNZEE #¢ 50,000& = 25& 1,250
og+¢] 4,200
OYAR AR BELY
70,000 = 521 = 123] 4,200
Ol=&Hl] 8,400
O&, =4 ggdes g4l
8,000& = 30Q! = 10 2,400
O=0o et FRFE =4H|
8,000& = 509! = 73| 2,800
OEIYNALYE L HHARETZAY|
8,000& = 40& = 10¢! 3,200
03 A2 Z Hl 1,000 1,000 0




SN B2
B Y Ay U
@ NYHE2H (&2 &)
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
OXNYgzAo 489 &4 299
1,000,000& = 13 1,000
202 04 d| 18,200 18,200 0
01 2L Y] 18,200 18,200 0
ORFANHEX L LS ot
20,000& = 791 = 703] 9,800
OSsH #HXNE ¢dHl 20,000 = 721 % 603 8,400
204 = 2 4= A H| 255,360 256,560 A 1,200
03 S8YRZEHI 255,360 256,560 A 1,200
OSdYREH| 255,360
oolzsgugzed
100,000& = 121 = 12& 1,200
OZRALHEYZL
60,000& = 3021 x 12& 2,160
O=23d ¢ Aga 2@ (o &gsd ( =0|3t)
50,000& = 42021 = 12& 252,000
403 XX SHHM S K201 5,095 5,000 95
02 SI2SHUSA=2EAEAIS Y 5,095 5,000 95
OCANHEHAIAE SXEL 5,095,000& * 14! 5,095
NAANL2ESKH 198,092 191,468 6,624
201 Bt A | 75,292 70,068 5,224
01 At 22l bl 42,100 38,100 4,000
OfgetE24] 34,300
OZTANH 222 HE L A2F 2
200,000& * 5= * 23| 2,000
ORZA ANRES el 100,000& = 12& 1,200
OR4a A0E 2
200,000& * 4= * 33| 2,400
ORzASH LAEY L SN
200,000& = 12& 2,400
OSSMUSY WASHUST 22|
100,000& * 33| 300
O9HE - BotH R T2k H &
20,000& * 1005 2,000
OXHANMIBA E=E HOA S I
- 10,000& * 5005 5,000
OClHENE 22 - 26 L HE
100,000& * 10| 1,000
OANBRA - EELR24A HAXF 2 Y 8312
250,000& = 123 3,000
OZEHYEX JIE88 #¢& 30,0003 * 300M 9,000
O2E HIE HE oM
20,000& * 30% * 53 3,000
OXMRABAEX g2 && H&
50,000& = 60H 3,000
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307 21201 A 16,000 134,100 A 118,100
02 It AT EL 16,000 11,000 5,000
Ous&EAN &g & HYs nFHSD
3,000,000& = 14 3,000
oMY Y HEHE N
5,000,000& = 14! 5,000
OoXNdgzssH &I s XN&
8,000,000 = 14l 8,000
401 AIEHI L 2 CHYI 3,000 0 3,000
01 A& HI 3,000 0 3,000
O0gH AtslEHX s 2 AIdE
3,000,000& = 14l 3,000
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SN B2
Ha: DRE I8 1S
Chel: FOIXXIAE XA (cho &)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OFUXNIME2E 4225 F4l
200,000& = 12& 2,400
o2& ZzOHY 29 M=zt
2,000,000& = 14 2,000
301 gt L= 22,120 16,680 5,440
09 SALAHIEAS 17,440 12,000 5,440
OFQNXAAS HTK 28t
100,000& = 309! = 13l 3,000
OFQUXXAA3 2t&al AlCH
8,000& = 302! 63l 1,440
OFLUXX 2208 2% ZA=sE
50,000& = 52 « 53| 13,000
12 JIEBHE4 = 4,680 4,680 0
FOXXAEH THSAX 224
30,0004 = 52 « 33| 4,680
wE=sIls 3,715,403 4,162,903 A 447,500
< 33,900
s 3,681,503
wWEIEHA= 3,715,403 4,162,903 A 447,500
< 33,900
i 3,681,503
JoE2 29 240,000 260,000 20,000
308 XtXIEHH SOl A 240,000 260,000 220,000
08 uFJ20UetE=x 240,000 260,000 A 20,000
O=0HMEdH 2&H X&
80,000,000 = 1JH 1 80,000
OZ0MEns 244 XA
80,000,0000& * 241 160,000
st s &5 N2 425,840 425,840 0
201 -4 220,840 220,840 0
01 At 221l 220,840 220,840 0
OZeloratalol A& &A=&
70,000& « 12¢l 840
OoZolottalol sts29E
55,000,000 = 4041 220,000
308 XXM SO A 205,000 205,000 0
08 WEII20HStE X 205,000 205,000 0
Oxssw &= E5ws &
10,500,000& = 1004 1 105,000
O=,5sw gtz s &
10,714,285& = 7001 75,000
Osstd du=s st
12,500,000& * 204 1 25,000
SHEXNS 302 2ZAKIZ 113,000 111,000 2,000
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2N S
MM NREAES
R NKI|BIREF (2 &HH)
o 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 33,900
= 79,100
308 XHXIEH SO0l A 113,000 111,000 2,000
= 33,900
= 79,100
08 W=EJl&otistE = 113,000 111,000 2,000
OsZEXNY 02 A XA
45,500,0009 * 201 91,000
= 27,300
= 63,700
OsZEX4Y =20 202 2ZA XN
22,000,000 * 1o 22,000
& 6,600
= 15,400
DNSstn Ji=s Al K& 59,100 59,100 0
308 XX G SOl A 59,100 59,100 0
08 W=EJl&otistE = 59,100 59,100 0
O1nsSs W Jlx=sAH XI&  1,036,8398 * 57H 59,100
dEd 2a34A T 824,483 824,483 0
201 gEt2Ay| 560 560 0
01 AP 22| d| 560 560 0
ORSZLABARANARIRE O BaLT
70,000& = 18 = 8¢l 560
308 AMXISHHSOIA 823,923 823,923 0
08 W=Jl&otistE = 823,923 823,923 0
OreH 2aZA X2 (x=,5 28M1)
823,923,000& = 14l 823,923
st 2 NI 1,321,980 1,251,480 70,500
201 LBt ]| 2,980 980 2,000
01 AP 22| H| 2,980 980 2,000
Oolegxd] 2,980
OYAPNRYHIAVGC FH 45
70,000 = 7021 % 23] 980
oOx-&-1 SN o4 o (2UESF S)
500,000 = 43| 2,000
308 MXISHHMSOIA 1,319,000 1,250,500 68,500
08 W=Jl&otistE = 1,319,000 1,250,500 68,500
ONBZD S8Xy X8
50,000,000& * 1JH 50,000
O2XMetn neizxed9 ANd
200,000,000& = 1Al 200,000
Ost. 2 Z2HUE NOen 29 £ 23MHE
20,000,000& * 290 40,000
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SN B2
MM NREAES
SR SIETE EERED
5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
Ox=-&8&0 EJ&E4 W XN
24,500,000 * 2041 49,000
OFAYE QHAAER XHE ALY
25,000,000 * 1= 25,000
ODnSsn sotel 25 X2
1,000,000 * 5074 50,000
OBYxS8D C2 ¥% 29
10,000,000& = 1JH 1 10,000
OMsINEsStN QHAERZ X
20,000,000 * 14! 20,000
OxsSsn "Hswa 849 50,000,000 = 14! 50,000
O - 1Dsst MM 2AaNSE X2
300,000& * 800H 240,000
O2zsD REANL B3
185,000,000 * 14! 185,000
OZ2z48 o M=4 e SSHE
400,000,000 = 14l 400,000
HESIHNEHAA 605,000 1,105,000 A 500,000
308 XAHXIGHH SO0l & 605,000 1,105,000 A 500,000
08 W=Jl&otistE = 605,000 1,105,000 A 500,000
Oysstnsy S
75,000,0008 * 404 300,000
OfE2 &1 s4XH 20,000,000& * 2412 40,000
O=20 s&Ngss I (x,8)
40,000,000 * 14! 40,000
O3 WAF A& 45,000,000 = 5H 225,000
NEoMsLI|e2H 120,000 120,000 0
306 23 120,000 120,000 0
01 s 2 120,000 120,000 0
OgYRoFEs I3 23 (58, 2F2y
=== 120,000,000 * 14! 120,000
AFS| EHXI K& 6,000 6,000 0
307 212t0| & 6,000 6,000 0
02 QIZHEAAIRE E X 6,000 6,000 0
OBAUNGE Y DSBAZTH
6,000,000& = 1JH 24 6,000
HMSISHMH 25 349,400 588,400 A 239,000
HMSERY 349,400 588,400 A 239,000
HdZ2BMSIESCAIEo32Y 4,000 2,000 2,000
201 gEt24Hy| 4,000 2,000 2,000
02 B33 4,000 2,000 2,000
OF=_ZHMSIET AIE 23 A3
4,000,000& = 1Al 4,000
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SN ERD
HE: BASSHM P
Sl M ERY Sl E )
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O=2diws WM 2 2,000& » 4000 » 2@ 1,600
ORdns23 AREZ 2
6,000& = 400¢! 2,400
O=dlu=ssg2s M 50,0002 * 20JH 2 1,000
O2dHus2d 22357
100,000& * 200H £ 2,000
Odfn=sstsz 29|
100,000& * 200 = 18] 2,000
03 A2 Z Hl 10,000 A 30,000
O=zoferd X&sstl 10,000,000& * 14! 10,000
202 odl 6,000 0
01 = LH o4 1l 6,000 0
O2dsgw2 3 X =0
20,000& = 221 » 150 6,000
301 L2 A F 166,800 A 289,800
09 HALAHIEA S 166,800 A 289,800
O=ofistusts At
1,500& = 400Q! = 12 » 73 50,400
OSSR A=Y
30,0003 = 4501 = 12 « 73 113,400
Odo 2ol s A 30,000& = 5091 = 23] 3,000
HEStSHH 29 40,000 0
201 Let24d] 24,000 0
01 At 2teltl 400 0
ogd=sstsdeH 222 M
100,000& * 40 2 400
02 =224l 960 0
Od=stsdly 29 4285 2¢
240,000 * 402 960
03 &AL Z I 22,640 0
Od=ssdH2Y 2AE
100,000& * 1621 * 123] 19,200
Of=sSME 2% SUBR
2,000,000& = 14l 2,000
Odl=srsdH UM &Sl
30,000 = 121 = 483 1,440
206 M= Hl 16,000 0
01 M2 4l 16,000 0
OCd=EstsdH2d e ¢
100,000& * 1021 * 163l 16,000
FESH o=ZetRH 1,699,006 A 359,645
< 22,471
i 1,676,535
dESH &3 1,405,706 A 355,099




SN B2
Hu: MRS AEARS
e FE2SA D& (9 ® =)
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
CIHUESH(IPT)AIAE 2= 52,985 205,644 A 152,659
401 AIEBIL 2 CHEI 52,985 73,264 N 20,279
01 A€ dl 52,985 73,264 N 20,279
OUHWESH(IPT)AIAE 3= 52,985
OBAXNA(ANS, 2MH, &4, 01)
13,246,250 * 400 £ 52,985
FESHAE Rl 487,026 520,190 N 33,164
201 fEt2E | 372,226 311,278 60,948
01 At2 2t 2l Hl 21,360 16,860 4,500
Olger=&tl] 21,360
OFMEU(Z, 88 =4)
90,0008 = 1CH » 12& 1,080
OE22XA JI=HeD| 8tdlel 7
300,000 * 4CH * 13 1,200
oxstd(AHO0IE) 80,000& = 28 = 128 1,920
OLANAIOIE 7¢¥ 120,000& = 42 = 102 4,800
O LANHHEE 7 50,0003 * 509 A 2,500
O2=0ls ¥ PVCEE  100,000& * 208fA 2,000
OUsSd M= M
1,500,000 » 3704 4,500
OFUZANeUSUY(LAN)E 27
300,000& * 10K 3,000
ogsEHI(0toa2)8 HAEX 2
30,000& » 12& 360
02 3224l 350,866 294,418 56,448
O[AI& ZHI 2 XHl] 350,866
CHIHHFY RIES 61,424
o QIEHSIES A, JIEFEX FAE=
180,685,000& * 8% * 1.1 15,901
o QEHUWHASI ¥ IEHSI RANES
306,874,000& * 8% * 1.1 27,005
o ME338 A%, AUHEHSUPSEHI
191,665,000& * 8% » 1.1 16,867
o HIYRE WA FANES
18,760,000& = 8% * 1.1 1,651
O=NFESUY FANE+ 125,051
o &SI (VWPN)FAE =
211,000,000& * 8% * 1.1 18,568
o SAA0IE(Z UTP)RXIE %
84,963,000 = 8% * 1.1 7,477
o HESIZHI (4RH , AREFE)RXE
- 352,246,000& * 8% * 1.1 30,998
o FHH RANEH (M2 L4,L7,858L)
359,348,000 * 8% * 1.1 31,623




SN B2
Hu: MRS AEARS
el EES4A D& (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 QosERE(MHAZH)RXE
139,206,000 * 8% * 1.1 12,251
o iRt % IPS RIS
149,700,000 * 8% * 1.1 13,174
o WEH 2L AIAH(NAC)RXE S
124,535,000 = 8% * 1.1 10,960
OLELANE & SHANE FXNE+ 86,929
o FABIYAAHEH KX
663,065, OOOOJ * 8% * 1.1 58,350
o IPEASEANAE KRB
85,240,000& = 8% » 1.1 7,502
o B YBEANE RANE=
28,500,000& = 8% * 1.1 2,508
o U CATVE ZSEAE |RXNE+
30,000,000& * 8% * 1.1 2,640
0 SIoA (oA HatA CHAM)SEEH
#XE =+ 178,400,000 * 5% * 1.1 9,812
o L&D FRXNES
12,690,000& * 8% * 1.1 1,117
o MOF = XI 2 == 2,500& = 2,0002 & 5,000
O SEUAIEAAE(UMS) RAE =
68,340,000 * 8% * 1.1 6,014
OEUa A & g Hdl =4&H|
10,000,000& * 34 30,000
O FAX 2 et&EHl =2ltl 1,000,000& * 14 1,000
OQEHUWASI M4 (S4350], BE)
50,000& = 25004 12,500
O &t SAIUPS =&Hl 1,200,000& * 54 6,000
O4al HESAIZFYl upsetdiel WXl
3,158,000& * 690 £ 18,948
ogzesll D&l
1,500,000& * 1CH * 23] 3,000
202 4 Hl 1,600 600
01 S LHOIYI 1,600 600
OZFESUSAF AFZBEZ AL SEE I
20,0003 = 2021 = 40 1,600
405 TtHakF S| 113,200 A94,712
01 AL EFH S 113,200 AN94,712
O:= FAXLH 1,000,000& * 504 5,000
OUHUHESI WiH(ZLE, &8458)
380,000& =« 30CH 11,400
Odmdgdst 54 170,000& * 1003] & 17,000
OdEHMSI 5 WH 300,000& = 40CH 12,000
OWstIl M/GILE + 2 (ADTM,ASLM)
3,300,000& = 3CH 9,900
OWEI|(OILZ SHIIE NATM)
2,500,000& = 3CH 7,500
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2N
X ZH -
L= B

el

0 0 Oy
H HT {0
O om &

Al QTR A=
A DT

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUE<RZ A<IX S04 3,000,000& =« 5CH 15,000
OYSAIAE =4l WA 35,400

OEU YSAE 35,400,000& * 14 35,400

FESNY 29 22 865,695 1,034,971 A 169,276

201 L2l 610,695 643,437 N32,742
02 =224l 610,695 643,437 N32,742
Ol2=224 Al 610,695
OQHYUANSIAIZEZ 300,000& = 12& 3,600
OHESUAFAX & M3 S3t=
250,000& = 12& 3,000
OQEUWAEMY MY 082
600,000& = 12& 7,200
OsUENS AME=(6M)
1,140,000& * 128 13,680
OQEYWEHOIX dE3H AEE
1,500,000& = 12& 18,000
O 2l Y3l & = (ADSL, GVPN, SDSL )
35,000& » 203l « 123 8,400
O&-Z2 01836 & 1,500,000 * 12& 18,000
O =4 HE8HSH(DID)AER
4,180& * 603l & * 128 3,010
O Ybtdst AIEZ 263,280
o AlLl 2Etd3s Satz
383 » 50008 = 1583t = 20 » 123 68,400
o A2 2Etd3s Satg
383 » 50008 = 1583t = 20 « 123 68,400
o 0lsd3 S3=
3203 » 20008 = 83t » 20 « 123 122,880
o MEMES 300,000& = 12& 3,600
OdE3H OI8= 28,000& = 403l & 1,120
OYVHE MER(24, 224, 554)
150,000& = 304 » 123 5,400
O LBtESIAIEE (A otA 2120 &S
5,000& = 2104 ~ 123 1,260
ONEsld B4, AR (HAE)
17,435& = 1536 « 123 3,139
OXEBSMIL MEZ(EIZ)
700,000& = 100H2 = 3 21,000
O 2SI HAEZ (512KBps)
350,000& = 5JH 4 * 12& 21,000
OZESUHE A& 2 (256Kbps)
260,000& * 7 » 123 21,840
OFESAE AE 2 (128Kbps)
150,000& = 304 » 12 5,400
OSHIEENZSY MEIHMER
100,000& = 102/ » 123 12,000




SN B2
MY HESA QRS
e FE2SA D& (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ-AMA-SH IS JEHMER
25,0003 = 953l & = 128 28,500
OZ-4BNABHESE N AIB
25,0003 = ZOEI(\_" * 1238 6,000
ORIEHII AEZ
100,000& = 304 » 12& 3,600
OBHXNA Mgh ME3H AMAE=
276,100& = 15004 « 123 49,698
O EHOIXlI SMSAIE = 200,000& » 12& 2,400
O sdY&(CATY)=8 2 600,000& = 123 7,200
OCEAEE(MS) SIdAIE2(HS,HA)
25,0003 = 534 + 128 1,500
OSH =goadgdl M2 (EF)
25,0003 * 73|& * 12& 2,100
OQUAABAB AL NHANEZ(MSE0ISE 2)
789,000& = 123 9,468
OZHZIMNZ 3ld 4 MER(IY . &43F)
825,000& » 123 9,900
O SEUHAHAAH 0IEE
3,000,000& * 122 36,000
OXNIAZFUNG SSAZBSHEH MEE
2,500& = 8ooCH « 123 24,000
401 AIEHIZ 28I 125,000 175,043 A 50,043
1T AIZHI 125,000 175,043 A 50,043
OMBE 40 OE MM WERAZT A0S
g ZA 50,000,000& = 14 50,000
OADIE EAIOHHAIAE p=
75,000,000& = 14 75,000
405 THabH S| 130,000 216,491 A 86,491
01 XA = ZH SHI 130,000 216,491 A 86,491
OMHE 48 429X FL
25,000,000& = 24! 50,000
OMBE AAX 2L 40,000,000& * 24l 80,000
sSHEd =4 293,300 297,846 A4,546
< 22,471
[ia 270,829
AF YSAAE RS 263,300 269,010 25,710
201 £B-2dH| 112,100 99,610 12,490
02 =224l 112,100 99,610 12,490
Ol3s22 < HMAl 36,000
olt=Es M3t MEE
7,500 * 400002 * 128 36,000
O[AM&EHI S X4l 76,100
OAIA ==& 10,000,000& * 14 10,000
oYd=Z =4 10,000,000& * 14 10,000




2N ER2
Hu: MRS AEARS
ool SMBY =4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OOtSes S XIE =4l (40004 )
2,805,000,000& * 2% 56,100
202 O4dl 1,200 1,000 200
01 = LH 4 Hi 1,200 1,000 200
Ontsgs SFAA EF0H
20,0003 = 201 = 30 1,200
401 Al HI K 201 I 150,000 118,400 31,600
01 A& HI 150,000 118,400 31,600
OSY DISLSALAEH SERXZEIAIAE 2
= 150,000,000& * 14 150,000
o 22X gt0lutol 5 30,000 28,836 1,164
< 22,471
s 7,529
402 RI2HXt20l ™ 30,000 28,836 1,164
< 22,471
s 7,529
03 212t &AL S HI 30,000 28,836 1,164
O 2ZX 2A0IIO0l RSA
30,000,000& * 1A 30,000
< 22,471
[ia 7,529
2|8 25 1,103,524 1,810,718 AT07,194
= 2,129
= 4,189
= 1,097,206
HEFE 29 737,835 1,175,653 A 437,818
= 2,129
s 735,706
HHYANAE ZH R 103,867 346,847 A 242,980
201 et 330 1,270 A 940
02 2324l 330 1,270 A 940
Ol2222 ¥ HMAl 330
ONTRAET ==l MHIA OIE2
165,000& » 2& 330
308 MtXIEHMSOIH 103,537 103,537 0
1037/ 2S0HUHeB A ALS HI 103,537 103,537 0
OZSINBAAE RAES(SSI182)
787,640,000& * 7% 55,135
OANZHISSALE RAEX(SSIIEH)
452,251, 7423 * 7% 31,658
O3SJIEtAIAE RAB4(MEIAHADR)
1,701,000,000& / 24300 A2+ 7,000
OAZF MHol=FRAIAE S 24
214,368,000& / 2290 Al 2 9,744




SN B2

u: eI 2%

ool Y 29 (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
dTEAM 2el 73,910 187,441 A 113,531

201 £et23E | 57,197 61,227 A 4,030
02 329l 57,197 61,227 A 4,030
O[AN&E & 2XHl] 57,197
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al& Bl & 28I 15,000 0 15,000
01 A& HI 15,000 0 15,000
O3 ML ZHl |X E=Hl
2,500,000& = 63l 15,000
HHEE FA2E 1,646,860 1,235,588 411,272
= 113,763
[ia 1,533,097
EAMAEES 22l 1,646,860 1,226,948 419,912
= 113,763
s 1,533,097
101 @124l 35,581 30,937 4,644
04 JIZHHZ2XNSE+ 35,581 30,137 5,444
OA H4Q9 ol
66,8003 = 191 » 246 16,433
OFs=+¢ 66,8003 = 1@ = 52= 3,474
OFLPUES=Eug =y 66,800& = 121 * 15¢ 1,002
C4liEg === 20,908,400& = 10.761% 2,250
OHARY &3 66,800& = 121 = 60 4,008
OXg&EeAxHY 50,000& = 12& 600
OHAREY HIE= 100,000& = 121 = 23| 200
OFAF=E H=&g 2
66,8003 = 221 » 30 4,008
OFASlY A 2%
66,800& = 721 x 22 33| 2,806
O Z =l 400,000& * 12! = 23| 800
201 £B-2dH| 827,658 756,111 71,547
01 At 22l 90,720 80,770 9,950
Olger=2tl] 90,720
OEXE EFF MEHUI 50,000& = 123l 600
ogaE FRF FHl 180,000 * 53| 900
OAHE MEHI (222 2tAH)
400,000& = 23| 800
04T BolHl (P&, FHAY)
50,000& = 504 = 123 3,000
O3J1&EI| 22t (254)
50,000& = 208 = 12& 1,200
OEA SIEAES ¢
190,000& = 58 = 103l 9,500
O&EA EAMM FE
150,000& * 4F * 63l 3,600
OBA AYAHBAUY FHLLB (AT
2 113, Zg3LEA 18) 7,920
660,000& = 12&
OFAMN EA ABF P& 300,000& * 123 3,600
O ZEA ¢ a=H| 500,000& * 63l 3,000
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25 M
M S ESHO Har2e|
Ee: WHS HA2H (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OFEAN HEAE 22 MY 25 ¢ 6,750
o 204 300 * 200H = 753l 450
o 504 750 « 2004 * 1753 2,625
o 100¢ 1,470 = 2500 * 1003 3,675
OFA EHHIA M M 2]
200,000& = 20& 4,000
OFEAN ZH EZ(8AHS A
1,000,000& = 1A = 43| 4,000
O ZAF 222l
400,000& = 10HA + 128 4,800
OZAI R03H 88 42
800,0008 * 12& 9,600
O&II&H OHEMZZIHE A 2 (2F)
1,200,000& * 12& 14,400
O DNAMIIEH HIEA =2
1,500,000& = 13 1,500
OHI|I&H CHEMEZEUHE 42 (SH)
3,000,000& = 23] * 110% 6,600
OBEXY W2 B 422
300,000& * 1004 3,000
O=EE=22 HJI= HMaldl 300,000 = 33| 900
O XESX HIILGA =2
70,000& = 1500 = 13 1,050
02 222494l 736,938 675,341 61,597
Ol2222 % MA] 571,637
O agtotM el &3l 240,000 = 13| 240
OEAINE B2 (28 7601, SH 1204)
102,280& = 88CH 13 9,001
oOdIIRIB(22, 82, 93 )
20,000,000 * 12& 240,000
OASx=E R (28, €2, 93 =)
1,200,000 * 12& 14,400
O XNSXHA (2 540, S9 1204)
150,000 * 660CH 9,900
OXNSXHEEZ (M 1504, A7 50H)
1,500,000 * 20CH 30,000
OZ2Z2FA MHolEREE(HE , dX2)
268,096,000& = 13| 268,096
O[AN&EZHISXdl] 31,700
OH=EE | Z2H(2H, 82, 935 s)
990 * 10,000m 9,900
ogx ¢ 93ls 54 KA 224
400,000& = 12€ 4,800
OO JIAxF= & ZEHAEA
100,000 = 80CH 8,000
OXXIEN D] &EH &L AZEANH KRKAEE
500,000 ~ 12& 6,000
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2AH: M

3y 5

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
O&EAMN2Z SX2eltl 3,000,000& * 14 3,000
O[Xrg - detdl] 133,601
ORAFLR(SEX)
1,651& = 3284 = 404 » 123 24,419
OZdR(U=NsE S8 ,32 . HA)
1,348 = 4450 « 1104 ~ 123 79,182
O38xg =cldl ¥ 22F F2&H|
2,000,000& = 1504 30,000
M= 8l 15,600 14,600 1,000
1 =8l 15,600 14,600 1,000
OFEAMU 3t 2 2 2,000,000& = 43| 8,000
Oga Z2&8A 3¢ 50,000& = 4004 2,000
OBM 25 B % 23 224 44 7Y
50,000& = 523l 2,600
Ossael ¥XE 2e  3,000,000& = 14 3,000
ANEHI& S 631,091 9,900 621,191
= 113,763
s 517,328
A& HI 631,091 9,900 621,191
O33ANE a2 203,884,000 » 14 203,884
O &AL CCTV H&EHI S At
50,000,000 = 14! 50,000
OZEAN =23 24 dget=IA
40,000& = 550m* 22,000
OZ&EA JI25 HHIS At 2,500,000& * 13H 32,500
OFHN PEFUY 23 2 THHUEE 2
At 16,000& * 2,500m 40,000
OFZ NUXEY I AM(AES)
20,000,000& =« 14 20,000
02019 A THAM MUK XSXAAS (ZLTE Ef
dZE A AX) 2,660,000& = 95.04Kw 252,807
= 113,763
i 139,044
OFEA 2=l 3,300,000& = 33| 9,900
405 TtabF S| 136,930 415,400 N 278,470
01 AL EFFHSHI 136,930 415,400 A 278,470
A ARAED Y 200,000& = 4504 9,000
OZA 248 2 500,000 » 5& * 23| 5,000
OFAL && 3dl =28 7¢
9,000,000& * 14 9,000
OLE=S P (A= 200, SHEALD 104
) 1,560,000& * 3CH 4,680
OFU=X4d SgseEley 28
32,000,000& * 1CH 32,000
O=2st2r&n dd) £+ 3,500,000& 104 3,500
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SM: HPD
Bu: goiEARe
el SO A2 (SHAB) CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSHAAN HI| RI(M4SSH)
10,000,000& * 12& 120,000
OSHAEN &5 QI (ASSH)
1,000,000& * 12& 12,000
OUSSHESEXNHH 223 (EE2ALE)
2,220,000& = 12& 26,640
OSH #IXNY EHE 1,000,000 = 12CH 12,000
O[AM&EH S XYl 48,462
O # A |XIHI 46,686
o dYs 6,000& = 965m’ 5,790
odsE 3,000& = 2,108m 6,324
o H&dH 6,000&  546m’ 3,276
o=&dH 6,000&  585m’ 3,510
o d=H 6,000& * 686M 4,116
o AlEH 6,000& = 618m’ 3,708
o &EXH 6,000& = 566m 3,396
o=AHA 6,000& » 762m’ 4,572
o NEH 6,000& = 749m’ 4,494
o shatdH 6,000& » 684m 4,104
oolgdH 6,000& » 566m 3,396
ONSSYESNUE &2 A2
148,000& * 128 1,776
O[Xrg - detdl] 86,400
O8H HEXY 23|
600,000& = 1204 ~ 123 86,400
401 AIEHIZ 28I 112,300 214,765 A 102,465
01 A& Hl 112,300 214,765 A 102,465
OZLSANEL S & dE 32 Z22lSM
10,000,000 * 14 10,000
OLASAMRAL F=XE FUISM(HH=2 FH
Y 2D S#ZEI| &X) 9,000,000& * 14 9,000
OHZHAR A 22| StEA HE A
20,000,000& = 14 20,000
OAZHFA HIHEAE &X
15,000,000& * 14 15,000
OAMESHEA E2 OIXIEZE = EHI
6,000,000& = 14 6,000
OFAMHASRAE HAHHSE BHETH WA S A
49,3403 = 304m 15,000
ONMSHARA AL E22cE DHIBA
300,000 * 28K 8,400
ONSHASRA HOHe ==L+ FHISA
7,000,000& = 14l 7,000
ODIZHARA 2T 10 HIe X3
A 4,000,000 = 14l 4,000
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2N
X ZH -
L= B

el

U Sl
SHE A2
SY MHae(8HAZ)

SA-3H-S(3AH) - MRAS - BES Off &t 24 ‘%Ei Hns2
OSEARL MLUNE SEBAHE A o A2
B1) 17,900,0008 + 14 17,900
405 XHAHE S HI 11,500 28,400 16,900
01 R LS E 3 St 11,500 28,400 16,900
OLXtarF S ] 11,500
OSSARL NRE AR PY
190,0008 * 504 9,500
OSBMRA ARE M4 7Y
500,000%! * 47} 2,000
#H2AAH (WD) 86.616 81,451 5,165
o= 86.616 81,451 5,165
MEE Jl=2ZH 24,028 23,488 540
201 Yet2 | 14,608 14,608 0
01 AR 22|t 14,608 14,608 0
O[gere] 10,000
ORNSYSUNY 10,000,0008 * 14 10,000
ol2l] 4,608
ORMNSYEUHA 8,008 » 62 * 96 4,608
202 01| 4,080 4,080 0
01 201 bl 4,080 4,080 0
ORMSYEAUANL 20,0008 * 62 » 342 4,080
203 &R FE &bl 5,340 4,800 540
04 BH2YHRET 5,340 4,800 540
OMPI 2AHSY RETY]
445,009 + 122 5,340
Zelg Jl=Fl 19,688 19,688 0
201 Yet2 | 15,608 15,608 0
01 AR 22/t 15,608 15,608 0
Olger+gH] 11,000
ORMNSY SAHA 11,000,008 * 14 11,000
ol2l] 4,608
ORMNSY SAHA 8,008 » 62 * 96 4,608
202 01t 4,080 4,080 0
01 20 bl 4,080 4,080 0
SH2Y SUHA 20,0008 * 69! + 34 4,080
S3He D= 13,000 13,063 ~63
201 Yet2 | 8,500 8,563 ~63
01 AR 22|t 8,500 8,563 £63
Olgerzgl] 4,100
ORNSYEUN Y 4,100,0008 * 14! 4,100
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2M: R

H: HHE2IZH (W)
2

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

Ol2&Hl] 4,400
OFRNSESHA L 8,000& * 521 = 110 4,400

202 (4] 4,500 4,500 0

01 2L Y] 4,500 4,500 0
ORANSESHHA 20,000& = 5021 x 45 4,500

A8 J23| 11,700 11,700 0

201 et A | 7,600 7,600 0

01 AFR2 2t 2l Yl 7,600 7,600 0
OlgetgH|] 4,200
OFRNESE SHHA 4,200,000 * 14 4,200
Ol2&Hl] 3,400
OFRNESE SHHA 8,000& = 501 % 85¢! 3,400

202 (4] 4,100 4,100 0

01 2L Y| 4,100 4,100 0
ORANEYE SHHA 20,000 = 521 x 41 4,100

Marze| g I 23l 18,200 13,512 4,688

101 @121l 1,000 0 1,000

03 2INHLZZ2XHE %= 1,000 0 1,000
OFHAQA A= 100,000& * 591 = 23] 1,000

201 LEt2 Y| 12,400 9,432 2,968

01 AFR2t2l bl 12,400 9,432 2,968
OlgetLgH|] 6,000
ORANEY SHH L 6,000,000& * 14 6,000
Ol=&dl] 6,400
OFRNESHE SHHA 8,0008 x 82 x 100 6,400

202 0db] 4,800 4,080 720

01 2LHOHI 4,800 4,080 720
SFA2YE SHAN 20,000 ~ 69 =« 40 4,800
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EX: S22
a2 Oy 25 2 2
Sl BBIXY CERED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 3,743,552
Jtot2 HIOtZ2S =4 39,000 44,000 A5,000
301 et A= 5,000 0 5,000
07 2Bl == 0 bl 5,000 0 5,000
OJIoF2 HAEGSISA 2E8IxdE O]
200,000& * 250l 5,000
401 AlEHI 2L 201 Y| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OJIoF24AtE J|E& AMNAESE RANESE
20,000,000 * 14! 20,000
405 XHoHFE SHI 14,000 14,000 0
01 XAt 2 FF S| 14,000 14,000 0
OJIoF2 dAI& T2NME 24T ol
1,000,000 40 14,000
EENMEAL2BRI_X XM 728,170 430,000 298,170
401 A& HI L E0HHI 728,170 380,000 348,170
01 A& H| 725,000 378,000 347,000
O[A A& AHHI] 20,000
OSSN &22 SF_X =4 AAEAHY|
2,000,000& = 1024 20,000
O[E X0 HI] 250,000
OJ|I&BHE A= EX 04
125,000 = 2,000m 250,000
O[AI&HI] 455,000
ON2E SAUN YAFIE X4
75,000 = 1,600m 120,000
OJI&HE otM e CCTVE A
4,000,000 * 10002 40,000
O0t2 E2=0l& AIEZ2 22l
500,000& = 100" 50,000
ONNE SZA L NAT 24
7,000,000& = 5JH A&~ 35,000
OS=0& &5 3 E4£2A
450,000€ = 100 45,000
OAUWl E2=01& AIEZ2 22l
20,000,000 * 14! 20,000
OJI&HE D2 HEZBA
50,0008 = 400= 20,000
OJI&AHE =5 AlHIZ A}
10,000€& * 1,000== 10,000
OJI&HE L5 2HEAHH|
5,000,000& = 5JH A&~ 25,000
OEA A2 & XM
2,500,000& = 16= 40,000
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2N
X ZH -
L= B

el

Sk
2y ol 2E o el
L

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJITHE == A A
500,000& * 100 50,000
03 Al 2 THHI 3,170 2,000 1,170
OXSESRIXNZLE AL20H
417,000,000& * 0.76% 3,170
2Z X ZHIAY 116,382 766,048 A 649,666
101 @14 Hl 11,022 2,000 9,022
04 JIZHHZ2XRHEE S 11,022 2,000 9,022
OJlBUCU stma Ha oy
66,8003 = 321 » 55 11,022
401 AIEHI L 201 105,360 762,088 A 656,728
01 A& Hl 105,000 760,000 A 655,000
O[AI&HI] 105,000
OAL7E 2ZANE2 FHAMY
30,000,000& * 14 30,000
O&&X CHHEX Z HH|
20,000,000& * 14l 20,000
OdliE o4Ul8 d=2 RANE=S
25,000,000& * 14l 25,000
OdIIs H4ZXNEHHE HEAESH
30,000,000& * 14 30,000
03 Al S THHI 360 2,088 A1,728
O2ZX FHIAY AlE=20dI
50,000,000& * 0.72% 360
FEN Sdl2 dEgaa x4 70,000 80,000 A 10,000
401 Al HIZ 201 Y] 70,000 30,000 40,000
01 A& HI 70,000 30,000 40,000
OZsE4 SallZ 2HI01 ALY
10,000,000& * 23l 20,000
OZE4 Sz NS FANE=SA
100,000& * 500m 50,000
St= ERE JiQUEYH AE 222,000 2,100,000 A 1,878,000
s 222,000
401 Al HI K 201 I 222,000 2,100,000 A 1,878,000
s 222,000
01 A& HI 222,000 2,059,500 A 1,837,500
O8tl= EZE JIQHH HE3AM
222,000,000& * 14 222,000
s 222,000
2EZOHHM A P = 40,000 40,000 0
s 20,000
s 20,000
401 AIEHI L 2] 40,000 40,000 0
s 20,000
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EA: St
M omE Oy 25 2 22
el BBIZTY CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 20,000
01 Al&H| 40,000 40,000 0
O[AI&Hl] 40,000
O 2ZoHHEX B HHAFY
40,000,000& * 14 40,000
g 20,000
= 20,000
C2dHYE 2ol =4 475,000 475,000 0
s 475,000
401 Al HI L 2 0HHI 475,000 475,000 0
= 475,000
01 Al& H| 475,000 472,010 2,990
OE2HAE 232 ZAAY
475,000,000 = 14! 475,000
g 475,000
st=2 ERE JIHME HE (XA 2,770,000 0 2,770,000
401 Al HI L £ 0HHI 2,770,000 0 2,770,000
01 Al&EH| 2,770,000 0 2,770,000
Ost=2 ERE JIQHYH HEZAH(ZE)
2,770,000,000& = 14l 2,770,000
=30z &E 3,595,196 3,242,436 352,760
= 40,773
g 900,000
J| 145,000
& 151,750
= 2,357,673
EoRA L HzsE2gs NE 4 2,180,416 1,922,416 258,000
= 40,773
Fag 900,000
J| 145,000
& 151,750
= 942,893
=23 z=gs N 129,000 117,000 12,000
307 2iz2to| A 129,000 117,000 12,000
02 QIZIA AAIE E X 117,000 117,000 0
OAMdMlnEe & JAlS X
7,400,000 = 5JH A&~ 37,000
OXNd23tes szo&8s I
2,000,000& = 6IHEHA 12,000
Odts 2328 =X 2,500,008 ~ 12& 30,000
ORI MERSHE=S 7,000,000& = 13 7,000
O=2dnsidH 500,000 = 6 3,000
OEAR3EAE AKX A L &2 HZ
28,000,000 * 13| 28,000
04 CIZ2tSHAPALS B = 12,000 0 12,000
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2N
X ZH -
L= B

el

=

=W
> W o
pa]
Olon

HO MO Mo
tol toi ton

ot or

i
:

10
5
xd

RIS ALES - B2 0l &t o

=

M
2Hm
==
£l
Ol
0y

O=&0tS S A JHEl 4,000,0008 * 33 12,000

=A420F fl=Z At XI& 51,546 51,546 0
25,773
25,773

M H

307 glztol & 51,546 51,546 0

25,773
25,773

HH

02 It HAMAEE 51,546 51,546 0
OF Ml=Z A XIR  51,546,000& » 14l 51,546

25,773
25,773

MW

2o R s € 79,600 80,000 A 400
15,000
13,550
51,050

MW

307 gl2tol & 79,600 80,000 A 400
15,000
13,550
51,050

Mo A

N
(]
N
oy
>
o
12
H
ol

40,100 40,500 A 400

I_
i

O
I
ild
uin
k>
o
0K
=

HAF X &

4,100,000& = 13l 4,100
2,050
2,050
OZ=2 sS4 ds2d 6,000,000& = 12 6,000
3,000
3,000
O ZEMI 30,000,000& = 1=l 30,000
156,000
4,500
10,500

04 QIZHHALALH 2 & 39,500 39,500 0

EURLY EUNL

Mo A

26,500,000& * 13l 26,500

2,000
24,500

Mo

13,000,000& = 1=l 13,000
2,000
11,000

Mo

Al
[
=
0o
™
=
2

199,000 184,000 15,000
145,000
16,200
37,800

S

UL

307 gl2tol ™ 199,000 184,000 15,000
145,000
16,200
37,800

S

Mo
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EX: S22
HH: 230z M=
o9l 2oRN U KHSES NY S4 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 199,000 184,000 15,000
Os&e230I2A AL 199,000,000& * 14 199,000
J| 145,000
o= 16,200
= 37,800
AEESHH 10,000 10,000 0
307 QI2t0| & 10,000 10,000 0
04 CIZ2tSHALALSE B = 10,000 10,000 0
OSEZeH S#HAK A 10,000,000& = 13 10,000
HEXAHAZEL2AH 5,000 5,000 0
307 212t0| & 5,000 5,000 0]
04 CIZ2tSHALALS B X 5,000 5,000 0
OYTHAMNZ=ZH AKX 5,000,000 « 13| 5,000
AAUAPASEZSH AL 40,000 40,000 0
307 2Iz2t0| A 40,000 40,000 0
04 SIZ2HSHAAISH E & 40,000 40,000 0
OFAFZ ASSHAIX A 40,000,000& * 13l 40,000
o2 AX =XMAA 90,000 90,000 0]
307 2izto| A 90,000 90,000 0
04 CIZ2tSHALALS B 90,000 90,000 0
OHN8s 8= 2daX 24HAWS
70,000,000& * 13 70,000
OJtor2atx=2d 20,000,000& * 13l 20,000
MAISE3A 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
04 CIZ2tSHAFALS B = 10,000 10,000 0
OHM243 HAIZSES3AUS
10,000,000 = 13| 10,000
NEZRS HSs €& 37,400 37,400 0
307 2izto| & 37,400 37,400 0
02 QIZ2FA AAIE E X 37,400 37,400 0
Oggn ) &8 A 5,000,000& = 23] 10,000
ONdE Hd 23 22 N 16,400
OMNH 1,000,000& * 20 A 2,000
O 23 M 500,0008 » 8JH A 4,000
O JIEIAR & 200,000 * 520 A 10,400
OFSUEHSKN(EE AS2 ML)
2,000,000 = 404 A 8,000
Ou& & SdHS23Y NEn=s
3,000,000 = 13| 3,000
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fAH: S2st22 1
M 20z s
S RN L KBS NE |4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oz 25 XA 154,870 278,470 A 123,600
201 £B-2d| 138,470 232,070 93,600
01 At 22l 123,470 133,970 A 10,500
Oflger=g4l] 120,150
OSINETERANE BAFHLY
70,000& = 152! = 33| 3,150
O Z2ateAl EE2S(EHIE 2IZHE)
500,000& * 23 1,000
Og==AIl 28yl
200,000& = 10CH = 53] 10,000
ORSAL HHH Y +42
300,000& * 2004 & 6,000
OZEX JIOIs&t X ChrRYUEHC H&
70,000,000 = 13l 70,000
OZstil=&dAMN 88 30,000,000& * 14 30,000
Ol=&Hl] 720
odglH==H £EHENE =S4
8,000& = 30 = 3¢l 720
Oolgxg] 2,600
O=2sl==2d g Xz
650,000& * 4CH 2,600
03 A2 S HI 15,000 98,100 A83,100
Olgamagl] 15,000
o&¢ Cal2 gMote 23t 29
10,000,000& * 14 10,000
O2ZEAL WAHAIE MWeSHA 23l
5,000,000& = 14 5,000
202 Odl 5,200 5,200 0
01 = LH 4 1 5,200 5,200 0
O20i=d8AN E2HE DS sFH0HHI
20,000& = 4021 = 103l 800
O20=dRF=d =H0HI
20,0003 = 501 = 443| 4,400
301 gtEd= 11,200 11,200 0
07 2BI=& 0 bl 7,000 7,000 0
OFstllz stH =QRA =H0HI
100,000& = 821 = 53| 4,000
O=U 2= 0z =& Ol
1,500,000& * 23| 3,000
09 SALEHIEA S 4,200 4,200 0
O230=3 AlAH 700,000& = 63l 4,200
FotAIZ2tel MEgo 29 225,000 255,000 A 30,000
306 £ 3 225,000 255,000 A 30,000
01 =23 225,000 255,000 230,000
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fAH: S2st22 1
M 20z s
&4 23R 2 =23 N |4 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZstAI et el 29 225,000,000& » 14 225,000
sl g a2g a4t 200,000 200,000 0
< 100,000
e 100,000
308 XXM SOIA 200,000 200,000 0
< 100,000
e 100,000
08 WHII20HStE = 200,000 200,000 0
OJtotsetx HsAY XI&
200,000,000& * 14| 200,000
< 100,000
[ia 100,000
SHE S0l dA2sta =4 900,000 500,000 400,000
as 900,000
401 Al HIZ 2018 900,000 500,000 400,000
s 900,000
01 A& HI 882,402 500,000 382,402
OctasShlsa U2 A3 AM
882,402,000 * 14 882,402
as 882,402
02 2feldl 13,998 0 13,998
OdtES80ls2 a2 A S AL Zeld]
13,998,000 * 14 13,998
ras 13,998
03 Al =2 THHI 3,600 0 3,600
OdtE S8l FRuNs2 A S AL 204
3,600,000& * 14 3,600
s 3,600
SEMEN=2 22 N& 44,000 44,000 0
= 22,000
e 22,000
307 glz2+ol & 44,000 44,000 0
= 22,000
s 22,000
02 QIZtE M AHEE 44,000 44,000 0
O0tdilsx 29 XA 22,000,000& = 14 22,000
< 11,000
[ia 11,000
OZuil=2 29 XA 22,000,000& * 14l 22,000
< 11,000
e 11,000
SESMEN=2 2 XA (AH) 5,000 0 5,000
307 glz2tol & 5,000 0 5,000
02 IZHE M AHE X 5,000 0 5,000
OAMElls2 XI& 5,000,000 = 104 5,000
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2N

=}
o =]
Y 250z M8

Sl N2t A 22X 3 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N2t AL 2t 2 XA &t 1,198,980 1,124,220 74,760
2E =M o XNE 6,000 6,000 0
202 04l 1,000 1,000 0
01 = LH 4 HI 1,000 1,000 0
OXNAZstH AL &I I
100,000& = 291 » 5& 1,000
301 LAz 5,000 5,000 0
09 EALEHIE &S 5,000 5,000 0
OEESAE32EX 2I2tel #It 24
3,000,000& = 14l 3,000
OEBXXSHMEH 2UHE SHE EIHEH
100,000& » 109 * 23 2,000
NAEZS=HMBAL XA 11,080 38,720 A 27,640
201 et 7,000 35,000 A 28,000
01 At 22l 7,000 5,000 2,000
Oolgxz] 7,000
OLUZEH 2 EH NEHARY(EES
L AXZ) 500,000& = 208 » 7 7,000
202 O4dl 1,080 720 360
01 = LH 4 Hi 1,080 720 360
OXNYG=H A I & #xI0rd o4yl
120,000& = 321 = 33| 1,080
301 LA Z 3,000 3,000 0
07 2BI=& Kbl 3,000 3,000 0
OAZE NG 2steAL & =H 2AeI=HH]
3,000,000& = 14 3,000
2= XA 1,180,900 1,078,500 102,400
201 Let2d] 108,400 74,000 34,400
01 At 2teltl 68,400 34,000 34,400
ol2g=+¢] 8,400
OBEENENAAL 59 ALY
70,000& = 309! = 43| 8,400
Ofget=&dl] 60,000
O Z2s=HMEELH 50,000,000& = 13l 50,000
O =23=HM F& M
10,000,000& * 13l 10,000
03 A2 Z Hl 40,000 40,000 0
OZs -2 g2 H
20,000,000& = 23l 40,000
301 gL = 8,500 10,500 A 2,000
07 2BI=& 0 bl 4,000 6,000 A 2,000

- 159 -




EX: S22
HH: 230z M=
e XNESots Al 22X &3t (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02019 A2 23=NH el == HH|
4,000,000& = 1A 4,000
12 JIEtE2 A= 4,500 4,500 0
OBESHETSAS 20 AR S|
1,500,000& = 3& 4,500
307 2Iz2to| & 1,020,000 950,000 70,000
04 SIZ2ISHAAISH E & 1,020,000 950,000 70,000
02019 A0 2S=EH K&
980,000,000& = 14 980,000
O 23=M =X & NSEMH 29
40,000,000 = 14! 40,000
401 Al HIZL 201 Y| 44,000 44,000 0
04 ALt Al & HI 44,000 0 44,000
OEQEANSAEX LY FANAZE &4 1A
22,000,000 * 14! 22,000
OSA0RF=ME =% M| AU S &K
Hl 22,000,000 * 14! 22,000
N2 H K& 1,000 1,000 0]
202 044l 1,000 1,000 0
01 2L I 1,000 1,000 0
O s48=23IEM 20|
20,000& * 221 x 253 1,000
N2 Mg & 2A 215,800 195,800 20,000
N2 MY &2 N 150,000 130,000 20,000
307 QI2t0| & 150,000 130,000 20,000
02 AI2tAAMAIE E =X 30,000 30,000 0
OXegEsa AIdEs X
30,000,000 = 1Al 30,000
03 UAHHEESIHES 120,000 100,000 20,000
OXsLI2sta 29X 10,000,000& = 12& 120,000
A0z 2HH XA 15,800 15,800 0
307 212t0| ™ 15,800 15,800 0
05 QIZ2tE 2 15,800 15,800 0
OYAYSUIBZZRT L LA ABL4R
650,000& * 12& 7,800
Ogg=zua & AIE=Al 500,000& ~ 12€ 6,000
Oga20lala2 8J| & Aot HA2
1,000,000 = 23| 2,000
23tsn 29 50,000 50,000 0
307 2Iz2to| & 50,000 50,000 0
02 QI AAIE E X 50,000 50,000 0
O=2sstn=dy 3,750,000 * 84 WA 30,000
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2AMd: 2322
M 2oos ds
Chelr NYEsta s @ g4 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SREEEEREEELETE]
20,000,000& =« 14l 20,000
SN B 1,912,234 1,683,010 229,224
= 481,307
< 491,228
s 939,699
FIMEEL 2tel 1,912,234 1,683,010 229,224
= 481,307
= 491,228
s 939,699
=2IHAE S 2+ Fl 426,000 980,000 A 554,000
= 268,200
< 47,340
[ia 110,460
401 Al HI L 2O 67.860 45,420 22,440
= 45,702
= 6,647
s 15,511
01 A& Hl 67,860 37,420 30,440
O[AI&HI] 43,200
OE=c LEUR B2
15,000,000& * 14 15,000
= 10,500
< 1,350
i 3,150
O =4 SSAMA &4SHE =HZH At
28,200,000& * 14! 28,200
= 19,740
< 2,538
[ia 5,922
O[& A& AHYI] 24,660
OZZA HE=Z EHIAMY dHESR
2,580,000& = 14 2,580
= 1,806
< 232
s 542
OZZA HE=Z FHEH dHEA
6,000,000& = 14 6,000
= 4,200
< 540
s 1,260
OEEL SAAMA A4SHEEH FHEH HAHE
| 1,800,000& * 14 1,800
= 1,260
< 162
s 378
ONdEIE HUAY dAHEd
5,280,000& = 14 5,280
= 3,696
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2N
X ZH -
L= B

el

toir ogi tok
= Ao
=N
H
i

i

A0 40 Ao
HT for op)

0
]
ot}
m
0
]

10

4r
x
0

B O (3) - NRAY - BES 0l &k o4

=

M
2Hm
==
£l
Ol
0y

475
1,109

M

O=Z0s AEE 2M2 E2HEH

9,000,000& = 14 9,000
4,500
1,350
3,150

MW

402 2I2tXt=01& 358,140 934,580 Ab576,440
222,498

40,693
94,949

HH A

o
S
=
N

FUHEAGEZ (01 HE) 358,140 934,580 Ab576,440
ZAL HEE ZHIALY 40,420,000 40,420
28,294

3,638
8,488

o)
n
[

>

HH A

94,000, 000&

*
>

94,000
65,800

8,460
19,740
82,720
57,904

7,445
17,371

Mo A

Oogdgns FHlAY 82,720,000

*
I

MW

141,000,000&

*
I

141,000
70,500
21,150
49,350

MW

EXNE 23 2= Fl 744,000 0 744,000
372,000
372,000

UL

Ha
Rl

401 A& HI Ch Bl 313,000 0 313,000
166,500

166,500

VN

01 A& HI 313,000 0 313,000
O[&AIEA] 38,000

ogzel NA&AR2 FHIH £HES
3,000,000& = 14| 3,000

1,500
1,500

EUNE

O=0el A2z FHEH £AHAEY

5,000,000& = 14| 5,000
2,500
2,500

EUNE

odldel Iz FHEH £AEY

7,000,000& = 14 7,000
3,500
3,500

EUNE
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2N 2SR
B QSN BE
CHe: 23 EEL 22| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
08Y Zu FHIONY 2ASY
3,000,000& 1Al 3,000
== 1,500
= 1,500
OYEEA FHAEHIANY EHEH
3,000,000& 1Al 3,000
== 1,500
2 1,500
OFEM HEA EHTY SHSY
10,000,000& 1Al 10,000
== 5,000
= 5,000
OBEMN HUIAY SHB
3,000,000& 1Al 3,000
== 1,500
= 1,500
O0|RY FTHAULIANY dHEA
4,000,000 1Al 4,000
[ 2,000
= 2,000
O[AI&Hl] 275,000
Og2de ANERZ F=HAHAIY
47,000,000 14 47,000
o= 23,500
= 23,500
O=Z0tel DEF FTHEHIAY
95,000,000 14 95,000
& 47,500
= 47,500
Odlde NEF FHEHIAY
133,000, 000& 14 133,000
& 66,500
= 66,500
402 QI2b X2 0| & 431,000 431,000
o= 215,500
iy 215,500
02 CI2ZtXIE A E X (0| XM THSH) 431,000 431,000
Og9e sFp F=HAEHAY 47,000,000 1Al 47,000
= 23,500
= 23,500
OUSA FHHUIAIY 47,000,000 14 47,000
o= 23,500
= 23,500
O s HEAI FTHEHIAIY
240,000,000 14 240,000
o= 120,000
= 120,000
OXS A HHIAIY 37,000,000 1Al 37,000
== 18,500
= 18,500
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fAH: S2st22 1
M REESM BE
el 2B EY e CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O0lsY =HEH ALY 60,000,000 = 14l 60,000
< 30,000
[ia 30,000
SEFSRL B HH| 200,000 318,000 A 118,000
207 RO 30,000 18,000 12,000
01 A3 39l 30,000 18,000 12,000
O=sHEadHd &I &9
30,000,000& * 14 30,000
402 RIZEX20| A 170,000 200,000 A 30,000
01 U2 E2AILE X (KA ) 170,000 200,000 230,000
OEEs 7 a2 +=FH 150,000,000& * 14 150,000
Oggatn s8sl& B4 20,000,0008 14 20,000
NE =23 |X 22 144,020 116,506 27,514
101 14 Hl 24,120 25,606 A 1,486
04 JIZHHZ2XREE S 24,120 25,606 A 1,486
O232E M==g 120,000& » 1021 » 124 14,400
OgYEE N=xY
120,000 = 92! x 32 « 33| 9,720
201 L2l 72,940 9,940 63,000
01 At 22l 63,580 3,580 60,000
Oflget=&Hl] 63,580
OZstMIlIs 2& A= 270,000& *» 63 1,620
OBERSHRUMAANG FH+Y
70,000 = 491 « 73| 1,960
O=2=M &8 B 60,000,000& = 14 60,000
02 =24l 9,360 6,360 3,000
Olz=22 % HAl 9,360
OEXHAMNLSBRB(EI &4+ Mats)
120,000& * 128 1,440
O2X23MS MIIHNMEH WA=
110,000& * 1202 1,320
OTEe=2MEdt 322
300,000& * 12043 3,600
OdE T AIE2 Sl 3l 3,000,000& = 13l 3,000
202 044l 3,600 3,600 0
01 S LHOIYI 3,600 3,600 0
OXN&E=2stM 2elddl 20,0003 » 321 = 602l 3,600
301 gErE L= 3,360 3,360 0
09 SALAHIEA S 3,360 3,360 0
O MsAHT M2It AN259 EFHdg
70,000& * 62! * 83 3,360
401 Al HI K 201 I 40,000 40,000 0
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2AMd: 2322
M REESM BE
el 2B EY e CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 40,000 40,000 0
O[AI&HI] 40,000
Oxm2Z=2stM 2=+t
1,000,000 = 200H & 20,000
OFEEZSMER ANEES FRAES
20,000,000& * 14! 20,000
DIts =IH019 20| 33,000 33,000 0
= 23,100
< 2,970
i 6,930
402 RIZ2EXt201 ™ 33,000 33,000 0
= 23,100
< 2,970
e 6,930
02 22t X2 AL E = (01X THE) 33,000 33,000 0
OadY D& ZIH0I S IIA S
33,000,000& * 14 33,000
= 23,100
< 2,970
[ia 6,930
HdSAE E=FHl 206,000 0 206,000
= 103,000
= 51,500
[ 51,500
402 2I2H X201 M 206,000 0 206,000
= 103,000
< 51,500
i 51,500
02 It X2 ArLE = (01X THE) 206,000 0 206,000
OFHSA HEANZ 22HH|
120,000,000& * 14! 120,000
= 60,000
< 30,000
[ia 30,000
OYEA MSAE EFI
86,000,000& * 14l 86,000
= 43,000
< 21,500
s 21,500
HSEME SWALAE RAAES 5,124 136,000 A 130,876
= 2,562
= 2,562
401 Al Bl 28I 5,124 0 5,124
= 2,562
= 2,562
01 A& HI 5,124 0 5,124
HEA EWAIAE RXES
5,124,000 14 5,124
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EX: S22
B QSN BE
CHl: 232 22| (2 &HH)
- RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,562
= 2,562
S METHAIE S 2 X3 67,000 35,860 31,140
2 40,900
= 26,100
307 2Iz2t0| A 37,000 35,860 1,140
2 25,900
= 11,100
02 QI AAIE E X 37,000 35,860 1,140
OSUA 2 Laine 89 L YHAL 2
A 2el X 22,860,000 * 14! 22,860
= 16,002
2 6.858
Ossg e waHel 89 L YWAL 2
22| 14,140,000 = 14 14,140
= 9,898
= 4,242
401 AIEHI 2L 2 0HY| 3,000 0 3,000
= 1,500
= 1,500
01 Al&H| 3,000 0 3,000
O[& A& AHHI] 3,000
OMHYDY FINLAY SN
3,000,000& = 1Al 3,000
2 1,500
= 1,500
402 SI2F K20l & 27,000 0 27,000
= 13,500
= 13,500
02 QX2 A E X (0| HTHS) 27,000 0 27,000
OMEEDE MO ALS
27,000,000 = 14l 27,000
= 13,500
= 13,500
SO A HIX & &2 87,090 63,644 23,446
= 43,545
= 17,418
= 26,127
101 2121 d| 85,290 62,444 22,846
= 42,645
& 17,058
= 25,587
04 JI2tHI22XNSE S 85,290 62,444 22,846
OSSHAH A Y o=
69,926,000 * 14l 69,926
= 34,963
& 13,985
= 20,978
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2AMd: 2322
B ZBCHD HE L 29
Sel: SHB 2E Ao E CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
101 14 Hl 28,692 26,081 2,611
04 JIZHHZ22XREES 28,692 26,081 2,611
Ostzd 3yl e=d 66,800 * 121 » 248 16,567
oYY FHRS B4
66,800& = 1@l » 52 3,474
OBBIY ARY 4HEH
21,642,000 = 12l = 10.761% 2,329
OZ¥HI R AXRE Fit=E
66,800& = 121 » 15¢ 1,002
OBIFY ARy MeFLY
50,000& = 12& 600
OHATY 212Y HEEIH)
400,000& = 23| 800
O ZH R EAZ 2,000,000& = 1@l 2,000
ORZHN L sAB2IALY
120,000 = 4091 = 43| 1,920
201 Let24d] 84,980 93,824 A8,844
01 At 22l 12,420 31,184 A 18,764
Olger=&Hl] 6,000
OFANZERN 28 2L (MHIISE,GEX
AR S) 500,000& = 12& 6,000
olgxz 6,420
O M HIO Ext2
23,0003 = 700 = 12& 1,932
OEAMa E=D| gX=
38,5003 = 404 = 12& 1,848
O&EMa BBIEEI Xz
22,000& = 1004 = 12& 2,640
02 8323l 72,560 62,640 9,920
Ol2322 ¥ HMAl 47,560
OGAN2 2T 3322(8I, =5 ,838)
2,200,000& = 12& 26,400
OEAZ SULEERI 20,000& = 12& 240
O RelZdl AA8 =2 170,000& *» 128 2,040
oA HIBAME(H1T)
1,500,000 * 13| 1,500
OAE EEAR
250,000& = 1238 = 2042 6,000
O&Il HI| tMFHHR(H13])
900,000& = 13l 900
OdI| AHEAME
230,000& * 1238 = 2042 5,520
O0&&J HIl M= (A1)
200,000& = 13l 200
08I RNE==Z 100,000& * 12& 1,200
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fAH: S2st22 1
B ZBCHD HE L 29
Sel: SHB 2E Ao E CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OS2 283l A 3l
360,000& = 13l 360
O AgtotMate] &3l 50,000& = 13 50
O=2=AM28s G &altl
100,000& * 13l 100
OEM ===H%3 EAE  500,000& * 23 1,000
OFMN &SFE 800,000& * 23 1,600
ofIgEsacX &3l 50,000& = 13l 50
O(M)BSEAM2EIYS MY XEESIHI
100,000 * 13/ 100
O(AM)BB=AME &3l 300,000& * 13 300
O[AM&EHI S X4l 25,000
O CCTVE = 2,000,000& * 14 2,000
OENZ 2T NS |2
15,000,000& * 14 15,000
O A2 ARAHE 01NE YXNU &
8,000,000& * 14 8,000
206 M= Hl 4,450 2,450 2,000
01 =8l 4,450 2,450 2,000
OZNMZ 2= 22(HE, =248)
150,000& = 35 450
OZMZ AHE 28 7¢ 1,000,000 = 43| 4,000
HSTNZ ZAr2el 311,537 557,090 A 245,553
101 @124 dl 26,372 26,774 AN 402
4 D12t ZE2XREES 26,372 26,774 A 402
OgZddH o2 66,8003 = 191 » 248« 16,567
OBA[YIAY FERIEN4Y
66,8003 = 101 » 52=F 3,474
SEEE-FE WL
21,642,000& = 121 * 10.761% 2,329
OBFFHAL ANRS FIag
66,8003 = 101 » 15 1,002
OBFFUIAR HEEII
400,000& * 1@l = 23| 800
Oostzadglel® gaazg 1,600,000& * 10l 1,600
OBATYIARY HiFA+T
50,000& = 1Ql « 123 600
201 L2l 142,500 96,196 46,304
01 At 2t 2l 68,008 26,604 41,404
O[get=&dl] 48,500
OMSEANE S22 0ld otUE & EE22
- 2,000,000& = 14l 2,000
OHSEME S5 HE 8
300,000& * 30H 9,000
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H1 ok Mo

522
BTN HE UL 29
N2t 23 o1met 25

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
OHNSEM2 AMIt 2o, ==2l, 0l X8l
200,000& = 80H 16,000
OHNSEM2 Ma 2o, =2l, 0l X8l
100,000& * 5074 5,000
OHSEMZ E=52 Sl ZZH0 2 Kl
- 150,000& * 307K 4,500
OMBETHE S2 o012 HIEH 7
30,000& = 200m’ 6,000
O FMEE KX 828 FL(MdII=sF . 5&
A HH S) 500,000& = 12& 6,000
Ol=&Htl] 2,800
OHSEME S=52 02 23 =S|
8,000& = 72l » 50 2,800
Olgxz] 16,708
OHsEANa 55 ¢ 2228 34
7,000,000& = 14 7,000
OFD| iz 37,000& = 708 » 12& 3,108
OEAMa BIIEEI FX=
22,000 = 2504 = 12& 6,600
02 2324l 74,492 69,592 4,900
o222 ¥ HMAl 41,492
03322(8J|, =&, s, FAYUS)
3,000,000& » 12& 36,000
O RUAHIAIAE ==+Z  176,000& = 128 2,112
03I FHIlBA=(H13])
250,000& * 13 250
osdll RNE== 100,000& » 12& 1,200
ofgsacX &3l 50,000& = 13l 50
Ost=E AM&ZE3 N SH  340,000& * 13 340
O(AM)B3=AME &3l 150,000 * 23| 300
Ost2AtMF I 50,000& = 13l 50
O A YotM 22| X 3l HI 50,000& * 13 50
O AM2EALFEIH 40,0003 « 13 40
Ot=a= A28 ZdF=dEX2E
100,000& * 13l 100
OFEML=R 500,000& = 23l 1,000
O[AMNAEBIRXYI] 33,000
OCCTV Jtbllet & =3tJl =cldHl S
500,000& =« 15CH 7,500
OLATAEE S22 (178 )
14,500,000& * 14 14,500
OXx&=s 2l € E=HA
3,000,000& =+ 13l 3,000
O A 0lNd XU £X
8,000,000& * 14 8,000
206 M= Hl 6,600 2,300 4,300
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EX: S22
Hu: ZTCHB HE Y 29
Sel: SHB 2E Ao E EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O0lSEAN X ADEH (AR EHO|
oAl 400,000& = 12&€ 4,800
Ol222=2 2 HMAI 1,780
OZ2EXY B8z &2 1,000,000& = 13 1,000
O22XE NsSXHA(HY) 780,000 * 18] 780
202 04d| 1,920 1,920 0
01 2L Hl 1,920 1,920 0
O0lsE A& 0t =23 oyl
10,000& = 2021 = 82 x 128 1,920
AN 2 = 50,000 50,000 0
405 XHAHFI S HI 50,000 50,000 0
02 = A 7| 50,000 50,000 0
O Mzl 10,000& = 4,000 40,000
OHIE AN PU(HXZ, DVD S)
25,0008 * 400& 10,000
MSTAS X2 = 122,500 80,000 42,500
405 KHoaHFE S HI 122,500 80,000 42,500
01 XA 2B F S| 22,500 0 22,500
OHSTHR 24 At 7
800,000 = 100K 8,000
OMSTHR ©4 At 79
400,000& * 104 4,000
ONSEANS SEEH 1Y 500,000& * 504 2,500
OuSENE QLLE AU (AFTAIR)
8,000,000& = 1CH 8,000
02 = A 72| 100,000 80,000 20,000
O Mzl 10,000& * 6,500& 65,000
OtU&es =& 20,000& = 500 10,000
OUR3 & Ao (2C2e) HEx n2l
50,000& = 300= 15,000
OANE2ZA 29 DVD ¢ 25,000& = 40074 10,000
U2 )ISEAE 29 35,818 37,444 N 1,626
201 Bt 33,418 35,444 N 2,026
01 AP 22| H| 22,500 21,500 1,000
O&H2d Asor 1ol 50,0008 = 408fA 2,000
Q&2 2eld] 50,000& = 30074 15,000
O&UtZ B2 ADE Y HRE ANYH 2
5,000& * 500H 2,500
oY =464l S 3,000,000 = 14 3,000
02 B232%H| 10,918 13,944 A 3,026
O[Xasety]] 9,418
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fAH: S2st22 1
Hu: ZTCHB HE Y 29
Sel: THT 23 AXet PE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&FUZ OISEAZ XU 22U
1,347.783& » 834 * 523 5,818
OFHAOSM2IE 223 (ALY,
gtdlel nX S) 300,000& = 12& 3,600
o222 % HAll 1,500
o=ss8xdg BE= Y52 1,500,000& * 13 1,500
202 OHl 2,400 2,000 400
01 = LH 4 Hi 2,400 2,000 400
OZFHZY OS2 Ots&sl ¢ 3l ol
10,000& = 201 » 10 » 128 2,400
HSEM2 55 ¢ 222d 1,725,417 520,000 1,205,417
s 1,280,000
[ia 445,417
401 AIEHI L 20 1,725,417 520,000 1,205,417
s 1,280,000
[ia 445,417
01 A& Bl 1,680,000 513,000 1,167,000
O[AI&HI] 1,680,000
OMBENE S5 ¥ 2/2EY DA
1,680,000,000& * 14 1,680,000
s 1,280,000
s 400,000
02 2feldl 36,777 5,000 31,777
ONSEAHE 55 2 2122 A5 el
2,100,000,000& * 1.137% 23,877
OdszNat 55 & 222d &I Zeldl
300,000,000& * 4.3% 12,900
03 A& 2 THHI 8,640 2,000 6,640
ONBTHE 5% 2 21298 A= 20|
2,400,000,000& * 0.36% 8,640
ENA2 OES Abls g4t 8,000 0 8,000
= 5,000
fia 3,000
201 24l 8,000 0 8,000
= 5,000
s 3,000
03 A2 I 8,000 0 8,000
OUtes 2208 29 ZAME
4,200,000& = 14 4,200
= 2,604
e 1,596
Oottest Tz g8 89 M, 014 ¢
iz, M2l ,970,000& = 14 2,970
= 1,840
e 1,130
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EX: S22
Hu: ZTCHB HE Y 29
Sel: SHB 2E Ao E EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
O2+78 € JItt &5 29 28 #*¢
830,000 * 14! 830
= 556
= 274
AN F=XE ZHZBA 200,000 0 200,000
401 AlEHIZ 201 Y| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OFAdT A2 =XE ZHZBAF AIEH]
200,000,000& = 1A 200,000
Het SHAC A HE 676,000 0 676,000
= 520,000
= 156,000
401 Al HI L E0HHI 676,000 0 676,000
hag 520,000
= 156,000
01 Al&H| 676,000 0 676,000
O[AI&Hl] 676,000
OEY SMTAB AY
676,000,000& = {14l 676,000
g 520,000
= 156,000
CIXE 2= S4AS 69,970 80,470 A 10,500
AT M2 CXE 2E = J|BES 44 070 46,470 AN2,400
201 gEt24y| 44,070 46,470 AN 2,400
01 AP 22| H| 4,400 4,400 0
Olgst=aH|] 4,400
OLINEXZA SHAZTENH P
140,000& = 1004 1,400
OCIXIEXtgd 29 =25 7Y
150,000& = 2004 3,000
02 232%H4| 39,670 42,070 A 2,400
Ol2222 % MA] 28,320
Ox1NH ZIEESAY AIEES
1,580,000& * 12& 18,960
QUM 236 AI22(YU-aS)
300,0008 = 12&€ = 200 & 7,200
O R4AHY S 2AE SHAEE
60,0003 * 128 = 24 & 1,440
O T A2 2HY SMSAFEZZ 60,0008 ~ 12 720
O[AEZHI SXdl] 11,350
O A2 T2 g0l & RAES
ul] 200,000& * 12& 2,400
O A2 J& A £ AZTENH KA E
Z2=H| 700,000& = 12& 8,400

- 175 -




2N

HH: BN HE L 29
& OXE 2= SHAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O SAMN3AINY SA=HANHA 08
550,000& « 14 550
s OXNEZE= J|etas 18,200 26,000 A7,800
201 £B-2dH| 9,200 8,000 1,200
01 At 22l 4,200 3,000 1,200
Olger=&tl] 4,200
CUXNEXNEA 2E AZTEYNH +&
100,000& * 204 2,000
OLIXNEXzd 22 28 P (A, 0=
AJBES) 100,000& *» 103 1,000
O Qo HEMHIA AEBFE P
100,000& * 128 1,200
02 =224l 5,000 5,000 0
O[AM&EH S XYl 5,000
OCXEXz4 PCaeltl 100,000& * 20CH 2,000
OMSEAME MAA DD O/l & S0l
c 3,000,000& * 14 3,000
405 XHoHF S HI 9,000 18,000 A 9,000
01 AL EZFH S 9,000 18,000 A 9,000
OtXgiizsd “=ZHFHLA
1,500,000& * 504 7,500
OLXNEXZA V0 88 2UH 72
300,000& = 5CH 1,500
A2 MA AIAE FHHI 7,700 8,000 A 300
201 £B-2%H| 2,700 2,700 0
02 =224l 2,700 2,700 0
O[AM&&HI S X4l 2,700
OCUXEXz4 PCcltl 110,000& * 10CH 1,100
OAE2ZA AADI|D| =2l
800,000& = 23l 1,600
405 XtatE SHI 5,000 5,300 A 300
01 AR ESFH S 5,000 5,300 A 300
OUXgizd = ZHH A
5,000,000& = 14 5,000
SENSFTUEAMNY 114,840 113,880 960
AN FUSAHIERS 23,220 23,220 0
201 et 23,220 23,220 0
01 At 22l 1,220 1,220 0
Oflger=&Hl] 1,220
O 128 B&X SME L3 AAMZ
80,000& = 191 » 3« 240
OM233 AT SH Sd2Ua HAMZ
80,000& = 201 » 3« 480
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